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x(t) = A(t) cos( 2nf.t + @(t))
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x.(t) = x(t). A, cos( 2mf,t)
Xc(f) = X(f) » F{A. cos( 2mf.t )}

Xe(F) = X(F) * {4/, 8(F — £2) + ¢/, 5(F + £2))
Xe(F) = /o X(f = ) + ¢/ X(F + £)
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x1(t) = x.(t).A.Cos ( 2rf.t)
Ae As
X0() = Xe(f) * |50 = £+ 8 + 1]

A A,
= |55 - £ + 2 XCF 4+ £
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*[75(f_fc)+75(f+fc)]

ACX 2 ACX ACX ACX 2
T (f — fc)+7 (f)"‘Z (f)"‘Z (f +2f)
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= ZEX(f = 2£) + X)) + L X(f +2£)
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A.Cos (2mf,t)
x.(t) = Mx(t).A.Cos (2rf,t) + A.Cos (27 f_.t)
= A.Cos (2mf.t)[1 + Mx(t)]
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x.(t) =A.Cos (2mf . t)[1 + Mx(t)]

Xc(f) = F{A cos(2nf.t )}« F{1 + Mx(t)}
Xc(f) = {1¢/y8(F = £+ /5 8(F + £} = (1 + MX(P)}
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(a) Message spectrum with zero-frequency hole; (b) practical sideband filter.
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Xeup() = 2 x(0) * FU(F))

Fourier Transf orm 1

u(t) ¢ 5 (f) +]27rf
UCr) - Inverse Fourier transform 1 5(0) 1
/) 2 j2mt

Inverse Fourier transform 1 1

U(f) ¢ = (t)+12n
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Xeur(f) = Xe().U(H).
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— —x(t) [2 5(t) + —]

i{ x(£) * 8() + x(0) * ﬂt}

A, A, i A,

Ac
= Z x(t) +Zx(t) = “ x(t) +jzy?(t)
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XcLp (t) = 4

w
x(t) *% = Xx(t)
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x.(t) = % x(t) cos(2mf,t) —j%ﬁ(t) sin(2nf.t)

reup () = 25 x(0) + 220
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